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1 
MULTIPLE CHOICE QUESTION  
(ONLY ONE CORRECT OPTION) 

MCQ 4 –1 10 40 1 10 

  Total     10 40  10 
 

1. How many sp2–sp -bonds found in the given compound. 

   

 (1) 2   (2) 3   (3) 4   (4) 5 

 

2. How many C–C sigma () bonds are present in the given compound?  

   

 (1) 8   (2) 9   (3) 10   (4) 11 

 

3. Which of the following statement is / are correct for following compound  

    

 (1) It is an allylic iodide    (2) It is a vinylic iodide  

 (3) It is 2° benzylic iodide   (4) It is 1° benzylic iodide 

 

4. Which of the following is an allyl group      

 (1) CH2 = CH —    (2) CH2 = CH — CH2 —   

 (3) CH2 = CH — CH2 —  CH2 —  (4) CH3 — CH = CH — 
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5. CH2 = CH – Br is a / an        

 (1) Allylic bromide (2) Benzylic bromide (3) Vinylic bromide (4) All of these 

 

6. How many  and  bonds are in the given compound ?     

  HC  C — CH = CH2 

 (1) 3 and 6 bonds (2) 3 and 7 bonds (3) 2 and 7 bonds (4) 4 and 8 bonds 

 

7. In (CH3)4C how many type of degree of carbon present    

 (1) Primary and tertiary (2) Primary and quaternary (3) Only primary (4) Only secondary 

 

8. Which of the following is tertiary chloride ?     

 (1) (CH3)2CHCl  (2) (CH3)3CCH2Cl (3) (CH3)3CCl  (4) CH3CH2Cl 

 

9. The homologue of CH3 – CH2 – CH3 is : 

 (1) CH2 = CH – CH3 (2) CH3 – CH3   (3)   (4) CH3 – C  CH 

10. The general formula of C4H4 is :       

 (1) CnH2n  (2) CnH2n + 2  (3) CnH2n – 4  (4) CnH2n – 2 
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